Corrections and Modifications to 2018 EA-2L Exam Solutions
(as of 4/2/2019)

Question 4:
The solution to this question used testing assumptions to convert the lump sum benefit to a life annuity. However, a life annuity is the normal form of benefit offered by the plan, so it should be determined using the plan equivalence assumption of 5.5%. There is no need to normalize the annuity because the plan normal form of benefit is a life annuity, and it is determined at age 62, which is testing age. The corrected calculations are as follows:

Smith


Accumulated pay credit at age 62 = $150,000 × 1.058 = $221,618


Actuarially equivalent life annuity = $221,618 ÷ 12.12 = $18,285


Normal accrual rate = $18,285 ÷ $200,000 = 9.14%


Jones


Accumulated pay credit at age 62 = $X × 1.0522 = $2.92526X


Actuarially equivalent life annuity = $2.92526X ÷ 12.12 = $0.24136X


Normal accrual rate = $0.24136X ÷ $30,000 = 9.14%


$X = $11,361

